
CHAPTER 2

The Metric System and Drug Dosage Calculations

ANSWERS TO CHAPTER REVIEW QUESTIONS

1.
b Because the metric system is based on powers of 10, it is easy to work with.

2.
c A pound is a measurement in the English system.

3.
a 1 cc = 1 ml

4.
d Height and weight are used to determine total body surface area.

5.
b The W stands for the powdered drug, and the V represents the final solution.

6.
3.2 liters ( 103 = 3,200 ml, or 3,200 cc

7.
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8.
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9.
Converting the infant’s weight to kilograms you have 500 grams is equal to 0.5 Kilograms,

The order reads 200 mg/Kg therefore you would give 200 mg x 0.5 kg or 100 mg. Since you have a solution containing 80 mgs per 1 ml, you would set up the following proportion:

80/1 = 100/x and x=1.25 ml 
10.
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11.
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1 gram to 1000  mg5 mg

==5 mlepinephrine

1000  ml ml

x


12.

[image: image5.wmf]4 mg methylprednisolone mg methylprednis
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20 mg hydrocortisone40 mg hydrocortizone
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13.
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= =8 puffs 

puff puffs
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14.
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15.
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